Y 7  AdRgabdrblatt [T PR

zu Potenzen mit gleicher Basis

LOosungen
Level 2 - Fortgeschritten — Blatt 1
Losung Al
a) 2X+3-x — 93 b) ad3t*¥—2 = gitx C) Qttx+t — o2t+x
d) 2x+1—x =2 e) ex+t—x — et f) 2—2+x+2 = X
g) e2xta—x-x — pa h) 3qltk—-1+1 — 3,42k I) (x + 1)n—1+n+1 — (x + 1)2n
Losung A2
a) 5a®*+5b% =5(a?+b?) b) 7x*+x*—4x =x(7x*+x—4)
c) 15a’h—3a? —ab =a(15ab—3a—b) d) 2ax*—a’x = ax(2x —a)
e) 12bc*—10c? = 2¢%(6b — 5) f) 7a’x + 6ax® = ax(7a + 6x)

g)  4bx*+ 2abx = 2bx(2x + a)
h)  8ax®+ 6a’x* — 2a3x = 2ax(4x? + 3ax — a?)

i) x*-2x3=x3(x-2) j)  —9a? +3a =3a(1l-3a)
K) ax"+4x"=x"(a+4) )] (1—u)2—%(1—u)2 =%(1—u)2
m) (x+w*(a—»b) n) 3ux3®-7x%2=x%Cux—7)
Losung A3
a) 3a*x* b) 6a?x%y3 c) 18x3y* d) 10a3x>y?
e) 60x°y3 f)  24a*x3y? g) 48a*b® h) 16a?x*y®
i)  36a*b® j)  48a*b3c3 k) 30x6y> ) 24a”x*y?
m) 30a®x® n) 40a*x®y’
Losung A4

2a%x  ax 4ax®  2ax 8x%y%  2xy 15a%x3  3x?
a) 4a = 2 b) 6x2 = 3 C) 12xy = 3 d) 20a2x = 4

24a®b® _ 4ab 16x?y _ 2x 15a%x% _ 3ax 9a’b*c _ 3ab
€) 18a2b 3 ) 24xy 3 9) 25ax2 5 h) 15abc 5
Losung A5
a) 8xt _ x* b)  3txtl2ttx _ 33th2ctl ) 3242 3%

256 32

_ )5 2x+a—x—(x+a) _ ,0 _ 9a’b _ 3a

d) (e-3) e) e =e=1n ap=y

14a’b® _ 2b 8a’x _ 4a . 6a’x’y® _ 2ax®
g) 7a%b%x  ax h) 2ax®  x2 I) 3a%y?  y2
. 12a’xy 3ax 6a’b*x _ 2a 10a’x®y Sax
J) Tzf Y k) 3ab33 ~ bx?2 l) 2ax?y*  y

l6a’bx’ _ 4a atb™® _  4npn+3-(2n-1) _ ,4-np-n+s _ "
m) 4xq£3x3 ~ b2x n) anpn-1 a b =a b  pnt
O) 416 = 4Xt2 472 — ygx p) 3213 = 34-(x+3) — 31-x CI) (a — b)3—(n—1) — (a _ b)4—n
r) a:;l = gt = ¢
Losung A6
a) 3%ntz b) 16x% + 24xy? + 9y*
c) —xB+4x*—14 d) x*—x°
e) 9x*+ 12x2%t + 4t? f)  9x* — 6x?%t + 9t?
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Losung A7/

a) 4adxb7?

c) 2ayb?

e) 15a3h %xy~!

9) 5a 'x?
Losung A8

a) 3d*(1+ 2a)
c) 3(x-2) (%x—1)2
e) 3x%(x?-—4)

g) a’@* +3)
i)  a?(1-—2a)+e*

Losung A9
a) x3(x+2)
0 &*+a)(x*-a)
e) (e*+1)(e* 1)
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LOosungen
Level 2 - Fortgeschritten — Blatt 1

4a?yb~3
2a"?b%x1
3a%x?b~?
4abc™?

2a*(1 —3a + 2a% — 4a®)

Lo (1-2

x(§x2—2x+3)
2%(142) =3 2%

3a3(1 — 4a®)
(eO,Sx + el,Sx)(eO,Sx —e
e*(x? +2x + 1) = e*(x + 1)?

1,5x)
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